Mounting instructions

MEGANT® 1060x150x50

Concealed installation Regular size overview
Main beam/Colu 41 Secondary beam/joist: ALU AW 6005
oN= s
.ﬁ.ﬁ ! bk sxo40 Connector plate specs
‘\@ in joist T 11| Main Secondary
/A/ ol O 1O 10 |9 ¢ beam beam
0 O;O 0 Q"@'SQ@ @-top —top
ol lol e[ 10 ~ in'd
% 3 bl o 6.)SK 8x240 R
0 OjO O'\@ N
N ol ol o] o =
o110/ 101 10 D \§
i ol ol lo Q-/@ N\ AN Ysk8x240
Ot '10,10[ 10 @ 3
M " ol le O AN
0 D;D 0 o ol lo Q/ Main Secondary
b b
O/Oj@ o eam eam
D/D oo o @ o o % glued log
/] I
3l o L/ 4 o ?
2Rt = & 1 eleel tasan
MEGANT (AW 6005)
O O;O D Q Q Q Q Pos No.| Art. No. part description A;.OZ(?IE;G
ofjoforjo bR =
O O / O / D Q Q Q Q 4 K236 thre:ded rod (3;9’)\2421?)1(:;;)0
% 3 : . 0o
O O ; O O N Q Q Q Q 7 7581 inclined screws 104x SK8x160
A1 | et PP e
5 % O |0 |0 |@ || ou | e [seewscemeingiaw  FECT
E O/O/O O
“E o ; oo 0 O O |©
2 ooV, 2 o PPLOE <
£ —H(9) sk 8x160 43|43
% 5 AL L] I;J\ ™ in main beam ' 13'50 ' SK 8x240
2 ©_ 150 (4)
2|  MEGANT 1060x150x50
g (Art.No. K236)

KINAPP*

Page 1/6 verbinder.com

© Knapp GmbH. All measures in mm - Errors excepted. VERSION 01  04.09.2018



2

Mounting instructions

MEGANT® 1120x150 x50

Concealed installation

Regular size overview

Main beam/Column: Secondary beam/joist: ALU AW 6005
O é
O\. ﬁ] T @5K8x24o
o in joist o Connector plate specs
o 1O O O] 1O e Main Secondary
0 O/O/D @ ® @ “/@SKSXMO beam beam
/ Sele @ @®-top | (B)top
P o 1o [0 [0 le'd
O 10110/ /& N
% O O 9 [© NN
Y o 0 [0 [o S\ PR
o orel 10 o N B\ sk 8x240
O = =y
% ¥ lof o |0 @
0,101 /0110 =
010 0|0 PP § ,I;)Aain zecondary
o 0 o lo I eam eam
O/O o 10 o lol lol lo © glued log
/|
8§ O/O/O/O § § ODO.Q%/%SK&MO
—| — — — L1
o1 10110/ 10
\@ Q Q Q Q Pos No.[ Art. No. part description MEGAll\gE(JQIZOGOOS)
O O D D Q Q Q O 1 connector plates 1063252:2.5037
o101]o[ 10 5 amaine b borom Jarsodso a0
4 % O O O |© A K237 | ed rod 3xM20x1180
o110/ OV 10 o threadedro (2924/1180)
4 “ 3 Q o Q Q 5 washer 6xM20
6 nut 6xM20
T O D D D Q Q Q Q 7 7581 |inclined screws 104x SK 8x160
£ O O O O orizontal screws X X
§ O o O Q 82.31 ;Z?; :orizon:a:screws ZXEE:xzig
% O O D O Q O O O 9?1 ;Z?; screws clamping jaw iiz};ﬁ)
S /|
g o o100
3 1 [ L?O%QFQ
g QLAVIOIAD R R
B | U
E 5@°@°@ ) 143143 | 1§ )5k 8x240
E C) 150
£ @ N @5K8x160
§ 150 in main beam
% [MEGANT 1120x150x50
2 [(Art.No. K237)
=

Page 2/6

KNAPP*

verbinder.com

© Knapp GmbH. All measures in mm - Errors excepted. VERSION 01  04.09.2018



Mounting instructions

MEGANT® 150

Hole pattern for concealed central installation

04.09.2018

. . . ALU AW 6005
Pre-drill layout in main beam !
Pre-drilling concealed installation of
l = 43 | 43 [ connector
s Secondary [Pre-drill spacings alwith
beam respect to secondary
~ Softwood: beam member heigth Hy
| I . 13xdrillings Height MEGANT® | MEGANT®
©
| 5 5";:7;10 Hy [mm] 1060x150 | 1120x150
ept mm
N ° 'y o— 1 P 1200 170
Hardwood: 1240 190
13x drillings 1280 210 180
! ! g GfT]mr 1320 230 200
[ epth screw-
length ~120 mm 1360 250 220
Y o & o 1400 270 240
b2 1440 290 260
| “ T b T ” T | 1480 310 280
T 1520 330 300
1560 350 320
Drilling positions for centered 1600 370 340
. . I 1640 390 360
mounting in secondary beam! 1680 210 280
42 b 4 1720 430 400
= I I I 1 1760 450 420
T 1800 470 440
N B 1840 490 460
! 1880 510 480
o
: S| softwood: 1920 530 500
£ 13x drillings 1960 550 520
o £ O 5mm, 2000 570 540
Z| o [ ° ¢ depth 30 mm
g 0 ! Distance MEGANT® | MEGANT®
2 Hardwood: 1060x150 | 1120x150
‘é 13x drillings 22 [mm] 360 920
o 0 6mm,
gf depth screw- a3 [mm] 85 85
e ] length ~120 mm -
g a3 | 43 T.\ MEGANT marking templates for
@ ' . horizontal drilling are available
S ~~— Housing depth L different si A
=) 50 mm in different sizes upon request.
E 152
S
2 >194
'—

Page 3/6

KINAPP*

verbinder.com

© Knapp GmbH. All measures in mm - Errors excepted. VERSION 01



Mounting instructions

MEGANT® 150

Install MEGANT visibly on main beam

This drawing is the exclusive property of KNAPP GmbH

ALU AW 6005

Inclined screws(?) in connector plate(2).
Start screwing from top down.

Use max. 20Nm torque setting.

Mount connector plate firmly

2.)

(A plate marks up for main beam install

|, — place horizontal screws

_— connector plate (1

For hardwood main beam
SK 8x120 screws are usually used.

T Clamping jaws (@) mounted at bottom.

Use clamping jaw screws(9) for installation

Page 4/6

KNAPP*

verbinder.com

04.09.2018

© Knapp GmbH. All measures in mm - Errors excepted. VERSION 01



<7 ° Mounting instructions
=¥ MEGANT® 150

Install MEGANT concealed on secondary beam
(B) plate markings up for secondary beam ALU AW 6005

1.)

|_— connector plate 1)

L ——install horizontal screws @

— inclined screws@to be
installed from top down.

Use max torque of 20Nm.

2? Plate must sit firmly

clamping jaws @)to be installed with
clamping jaw screws @ SK8x240
at top of beam

For hardwood secondary beam
SK 8x120 screws are usually used.

KNAPP*

Page 5/6 verbinder.com

This drawing is the exclusive property of KNAPP GmbH

© Knapp GmbH. All measures in mm - Errors excepted. VERSION 01  04.09.2018



Mounting instructions

MEGANT® 150

Concealed installation
ALU AW 6005

2. Install M20 treaded rod (4 )in
lower clamping jaw@with 30 mm

overlap
W\ Allen Key SW8
[ ™
N\ o 20 threaded rog
o\ . __ __ withISKSW8
1 AN -

Rl epglSKSW 8

Lower clamping
jaw with internal

0 M20 thread
Main beam Secondary beam Main beam Secondary beam
3. Place washer and nut M20 on 4, Tighten M20 nut on the top and
the top and bottom bottom with SW 30 wrench (40 Nm)!

3x nut M20

[T

——(5)3x washer M20 |—

N i A _ Q ) )
AN | o Al

I ‘,Q —_— — 3 *
AN
v
G Q\ \\ \\ | N
g AN \\\ N| *..ISKTiefe AN :
& - :\ } "Q\\\ ===,
g o \\_ | i &\\
3 N | N B ===
1 i = AR g RN
2 Ny v AR M| N
e . : | Main Secondary
2 : 05 beam beam
% ,[;A:;?n ;X Wa::AeerMZO Glued the log into the milling slot
5 X nu
2 Secondary beam

KNAPP*

Page 6/6 verbinder.com

© Knapp GmbH. All measures in mm - Errors excepted. VERSION 01  04.09.2018



